L.3.1.B-Test1B Form and use regular and irregular plural nouns.

Multiple Choice

Identify the choice that best completes the statement or answers the question.

10.

. The plural of box is

. More than one dog would be

. The plural of bush is

. The plural of monkey is

. The plural of goose is

. The plural of story is

a. box
b. boxes

a. dogies
b. doggs

a. bushes
b. bushs

a. monkeyz
b. monkies

. More than one dress would be

a. dressies
b. dresses

boxs

. boxxes

: dogs
. doges

bushez

.. bushies

monkeyes

.. monkeys

a. gooses
b. geeses

. More than one leaf would be

a. leaves
b. leafs

a. storyes
b. storiez

. More than one man would be

a. manes
b. mans

The plural of sheep is

dresss

. dress

goose

. geese

. leafes
. leavs

. stories
. storys

manz

. men



a. sheep c. sheepes
b. sheepps d. sheeps

Answer 1:
Answer 2:
Answer 3:
Answer 4:
Answer 5:
Answer 6:
Answer 7:
Answer 8:
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Answer 10: A



